
F1421 Základní matematické metody ve fyzice Petr Šafařík
F1421 – HW11 – 051008 UČO: 175826

13:
a:

( )

( )

( )( ) ( )1lnln2lnln21

1

ln

ln,

222
22

3

2
2

2

1

2

3

−−+=+−+=
∂∂

∂

−=
∂
∂

+=
∂
∂

+=
∂∂

∂

−

−

−

xyxyyxxyxxxxyyx
xty

t

xyy
t
t

yxyy
x
t

xyxyyxt
yx
t

yylyyy

y

y

y

b:

( ) ( )

yz
zyx
t

yz
zyx
t

yz
yx
t

zyxz
y
t

zyxyzxzxzxyzyxt
zyx
t

12

6

2

12

sin,,

2

4

2
3

3
2

3

2232

2

4

=
∂∂∂

∂

=
∂∂∂

∂

=
∂∂

∂

++=
∂
∂

+++++=
∂∂∂

∂



F1421 Základní matematické metody ve fyzice Petr Šafařík
F1421 – HW11 – 051008 UČO: 175826

14:

r
r
mM

r
r

r
mMFg

zyxr
r
mMV





32

222

− ℵ=ℵ−−=

++=

− ℵ=

( )

( )

( )

( ) 3
2
3

222

3
2
3

222

3
2
3

222

2
1

222

222

2
2
1

2
2
1

2
2
1

r
zmMzyxmMz

z
V

r
ymMzyxmMy

y
V

r
xmMzyxmMx

x
V

zyxmM
zyx

mMV

ℵ=++ℵ




 −−=

∂
∂

ℵ=++ℵ




 −−=

∂
∂

ℵ=++ℵ




 −−=

∂
∂

++− ℵ=
++

− ℵ=

−

−

−

−

( ) Fgr
r

mMzyx
r

mM
r
zmM

r
ymM

r
xmMgradV −=ℵ=ℵ=





 ℵℵℵ= 

33333

1,,1;;



F1421 Základní matematické metody ve fyzice Petr Šafařík
F1421 – HW11 – 051008 UČO: 175826

15:
funkce t
vektor A

( )
( )tAztAytAxAt

AzAyAxA

;;

,;

=

=




( ) ( ) AtrotAtgradAtrot


+×=

Levá strana:

( ) ( ) ( ) ( ) ( ) ( ) ( )

( ) ( ) ( ) ( ) ( ) ( )






∂

∂+
∂

∂−
∂

∂+
∂

∂
∂

∂+
∂

∂−
∂

∂+
∂

∂
∂

∂+
∂

∂−
∂

∂+
∂

∂=

=





∂

∂−
∂

∂
∂

∂−
∂

∂
∂

∂−
∂

∂=

y
AxtAx

y
t

x
AytAy

x
t

x
AztAz

x
t

z
AxtAx

z
t

z
AytAy

z
t

y
AztAz

y
t

y
tAx

x
tAy

x
tAz

z
tAx

z
tAy

y
tAzAtrot

;;

;;


Pravá strana:







∂

∂+
∂

∂
∂

∂+
∂

∂
∂

∂+
∂

∂=







∂
∂−

∂
∂

∂
∂−

∂
∂

∂
∂−

∂
∂=×







∂
∂

∂
∂

∂
∂=

y
Axt

x
Ayt

x
Azt

z
Axt

z
Ayt

y
AztAtrot

y
tAx

x
tAy

x
tAz

z
tAx

z
tAy

x
tAzAgradt

z
t

y
t

x
tgradt

;;

;;

;;





( ) =+× AtrotAtgrad


( ) ( ) ( ) ( ) ( ) ( ) ( )

PL

Atrot
y
AxtAx

y
t

x
AytAy

x
t

x
AztAz

x
t

z
AxtAx

z
t

z
AytAy

z
t

y
AztAz

y
t

=

=





∂

∂+
∂

∂−
∂

∂+
∂

∂
∂

∂+
∂

∂−
∂

∂+
∂

∂
∂

∂+
∂

∂−
∂

∂+
∂

∂=


;;


